S14 Final Exam Problem 1
Combinatorics, Dave Bayer

Dave Bayer (Instructor)
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[1] How many paths are there from the lower left corner to the upper right corner of this grid, moving

only up or to the right?
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[2] How many ways can one fill a tube of length 16, using sticks of length 3 and 4?
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[3] How many ways can a 10-gon be dissected into two pieces, neither of which is a triangle?
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[4] How many ways can one draw two crossing interior edges, inside a 10-gon?
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[5] How many standard Young tableaux are there of the following shape?
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[6] How many ways can 4 checkers be placed on a 3 x 3 checkerboard, up to symmetry? Consider both

rotations and flips.
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[7] Up to symmetry, how many ways can the beads of a seven bead necklace be colored, using exactly
three colors? Consider only rotations, and use all three colors.
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[8] Using n possible colors, how many ways can one properly color the vertices of a 7-gon?
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